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B.Com.(Genl.)/B.Com.(CAS) DEGREE EXAMINATION,
JANUARY-2024
COMMERCE
Management Accounting and Practice
(Semester - V) (CBCS Pattern) (Regular)
(w.e.f. 2020-2021 Admitted Batch)
Time : 3 Hours Max. Markﬂ
SECTION -A
Answer any Five of the following : (5x5=25)
( Each question carries 5 marks.
:-l 1. Significance of Management Accounting.

DB, 3oED @é?oeﬁoﬁ 3008, SRVYB.

2. Whatis debt-equity ratio?
200890 - 588,63 DHB BT BLO?

3. Gross working capital and Net working capital.

QPR DBEI0ED E0TPEO0 DO OB DU EIES 0TROEO.

4, Cash flow from operating activities.

35536300 Bt BeIaRe o, 0o {3 DO © VDO

5. Classification of Budgets.

eagny O30, SEBLE.
S-1785 1] {ET.O.




10.

BCCMA/BCGMA-SN501

Need for Management Reporting.
DB 57es ODFHOH 30T, BBHISS.

Budget Manual.
20G3e5 55050 5.

Essentials of Good Information System.

DO ATTID ééérgéJ (@100 esaﬁ(qssaen.

SECTION-B

Answer any Five questions : (5x10=50)

Each question carries 10 marks.

How does Management Accounting differs from cost Accounting?
State the limitations of Management Accounting.

DB, 20 @©3°08308, H5,050 ©3°0e305 8ol Do
2RI 7 DB ETe0 9520508 GI0E, HOELEOD Beaind 7

What is meant by Ratio Analysis? Discuss its objectives and
limitations.

DI HFNED ODTPRN ? HD B0, SR TAD HOOTD
DOV TYOTSObs.

S-1785 2]
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11. From the profitand loss account of a company for the year ended
31 March 2023.

Particulars X Particulars 4
(in” 000) (in” 000)
To Opening stock 100 By Sales 560
To Purchases 350  Byclosing stock 100
To Wages 2
To Gross profitc/d 201
660 660
To Administrative By Gross profitb/d 201
expenses 20
To Sellingand By Interest on
distribution expenses 89 Investments 10
To Non-Operating By profit on sale of
expenses 30 investments 8
To Net profit 80 |
219 219
Calculate :

a) Gross Profit Ratio;

b) Net Profit Ratio;

¢) Operating Ratio;

d) Operating Profit Ratio and

e) Administrative Expenses Ratio.

S-1785 13] [PT.O.
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31 K008 2023 &9 @oéa’wcﬁsﬁ 0,00

DB (70 208 BoadD
O300E,), 3985 Do §IoTD 00
EA I 030 B08B0 (BR.)  HHoE 0o (&32.)
('000) ('000)
To RBogsd By eoai,50e0 560
OB 100
To &6, 350 By 080 dtos> 100
To BSoen 9
1o QRO €30830 201
660 660
To HoapOTe pReo 20 By DRe €30830 201
To evan,Bo SO0 By d¢ped@e s 10
HODES gLen 89
To es53¢3086 By 3»énertioe
CHBE LR 30 €9530,503) 7850 8
To OB eveeso 80
219 219
08T TIPB0 !
a) VRO eegIdHNS ;
b) BC eI DN ;
c) 00306 DY ;
d) esHTEI0H 985 DB OOV
e) DO PO DHB D BIGDO.
S-1785
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12. Prepare schedule of changes in working capital and funds flow
statement from the following Balance Sheets.

Liabilities  31-3-2022 31-3-2023  Assets 31-3-2022  31-3-2023

4 4 X 4

Creditors 36,000 42,000 Cash 4,000 3,600

Bank loan 30,000 45,000 Debtors 35,000 38,400
(Long term) '

Capital 1,48,000 1,48,000 Stock 25,000 22,000

Land 20,000 30,000

Buildings 50,000 55,000

Machinery 80,000 86,000

—e—e

2,14,000  2,35,000 2,14,000  2,35,000

During the year proprietors drawings X 26,000. Depreciation
provision X 27,000 as on 1-4-2022 and ¥ 36,000 on 31-3-2023.

S-1785 |5] [PT.0.
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- 05085 DODED 8 VD, DD HO0V, DT aTeEs?
HOROEHOSH® HIR VLIS 0O DEVO DI
1
¢ BB Loeaye 0050,
9,00 31-3-2022 31-3-2023  &K0O 31-3-2022 31-3-2023
c
&Il ourl] o] (ourl]
|
: 200E3CTOEH0 36,000 42,000 &% 4000 3600
0
= 2R,08) B, 30,000 45,000 aooemfagey 35,000 38,400
(éf)qg SOEHHD) DK 25,000 22,000
30TEHV0 1,48,000 1.48,000 R 20,000 30,000
ASIVIOV) 50,000 55,000
i ahomen 80,000 86,000
O 2,14,000 2,35,000 2,14000 2,35,000
1n 00D TS (1Pa1 QDENTPD WPOEBaILESeD B30.26,000.
51 1-4-2022 7503 50O 31-3-2023 m0€3 BDIDES DT2EN
DT B32.27,000 &1 S0O0X0 830.11 36,000.
le;
& 13. Calculate cash from operations from the following:
a) Profit made during the year X 5,00,000 after considering
its ¢ the following items:
e ) 3
i)  Depreciation on fixed assets 10,000
enc i) Amortization of Goodwill 5,000
5S iii) Transferto general Reserve 7,000
iv) Profiton Sale of Land 3,000
S-1785 16]
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b) The following is the position of current assets and current

Liabilities:
2023 2022
< ?
Debtors 15,000 12,000
Creditors 10,000 15,000

DD aDHR0ED DT 50D S8, BeIPaIRR) K00 &I
éé&oéoc‘i*s.

a) DB OO0 TS (7D (OIDD WOTIVRD DI
&Dees ) e¥egio Bell 5,00,000.

&0,
1) ?}goaxacge;@ SEDHDEO 10,000
) OEHS B DEDHO 5,000
iil) DpGIeSEs O2EILFOED 22O 7,000
V)  g0ed0 &9530,50 eRg0 3,000
b) DB 8L HOOT DB @),V BT OIS

A lnleler é&g@:

2023 2022

&e. &,
200083 {Hroe0 15,000 12,000
202060 TI0&5R) 10,000 15,000

14. What is cash budget? What are its advantages? How is it
prepared?

555D 2GS DRV 7 D BV HABreasmeen OO7?
S-1785 71 [PT.O.
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15. A limited company is considering investing in a project requirin -
cash out lay of X 4,00,009. Forecast of annual income after
depreciation but before tax is as follows:

Year : l 2 3 = 5
Income : 200000 200,000 1,60,000 1,60,000 80,000
Depreciation may be taken as 20% on original cost and taxation
of 50% of net income.

Calculate Net present value and profitability index at 10% cost of
capital.

20 P WHOTECR); DRI 258 DR B0 a3t
B30.4,00,000 XD DO TIEEDOD.

ALVOR 00,8 83200 BN B0, & OO HYED
E0005 HBDOHOEDD. |

éoé%tﬁo : 1 2 3 4 S

e3P0 HO  : 2,00,000 2,00,000 1,60,000 1,60,000 80,000
SBEDIDEOD 00 DEESHZ) 20% (TP BT DR 50%
03283 DBY BGeaDnoD 6%21;50&. 0T D;ODO 10% 19
DESHNE Dot o0y eegkmODEITIR BSOS
16. Whatdo youmean by a Report? What are the essential Requisites
of prepating a Good Report?

DB SRR ? 5006 DB LRRODOTDED PR |

v < O

S-1785 (8]
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B.Com.(Genl.)/(B.Com.) (CAS) DEGREE EXAMINATION,
JANUARY - 2024
COST CONTROL TECHNIQUES
Commerce Cost Control Techniques
(Semester - V) (CBCS Pattern) (Regular)
(w.e.f. 2020-2021 Admitted Batch)
Time : 3 Hours Max. Marks : 75

SECTION -A
Answer any Five questions: (5x5=25)
Each answer carries Five Marks.

1. Costcontrol techniques.
00D R)ofooéea DLBOeV.

2. Factors Influencing Application of (ABC) Activity Based Costing.
BT SEPOHD HTOHBIN T SHTSLD.

3., Examples of Marginal and Fixed Costs.
TG S0D0H0 PO 85,0550 €3TIRSTBEI0ED.

4., Benefits of standard costing.
PS0REBE SoQHOH BDCITAIPED.

5. Difference between Kaizen costing and Target costing.
Bo028S 503308 E0OOK £79885 SEHOH S5 5T WPLV.

S-1786 1] [FTO.
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Purpose of Cost Audit.

sof) e385e5 €C3ToeD.

Give a few examples of activities and relevant cost drivers under
ABC.

ABC B0t5 5o, Berinen Shoon S e, Smminsmios?
HOOR)DD.

Meaning of Limiting factor for decision making.

DYoTRen 80620058 S0 Bue HONBSES0 arE

SECTION-B

Answer any Five questions : (5%x10=50)
Enunciate Auditing Techniques.

3856308 DHEBOOD DDOO.

Dilate the steps involved in Installation of ABC.

esoE SHROE GEIED WO GDBIEBOD ST
B0,

S-1786 2]
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11. The particulars relating to two products are given below product
« A" is a newly developed product with production and quality
problems requiring many Engineering changes. Product B is
however a matured. Product and does not require much

engineering attention.

Product ‘A’ Product ‘B’
Units produced 200 200
Engineering change notices 20 6
per product line
Unit cost per engineering X 250 X 250
change notice
Machine hours per unit 4 6

Compute overhead cost per unit of each product using ABC.
DD BOD HDBBH0E O 208 AIRDES &HBE 3706 59

ABC 58 o, 00 B:06°0050 DBE A s000Hd DEE ‘B’
B B:5E00500. DG A B80T )8 DOLNDE) WO TR,
§9Q D000 BOJD) B8 DS ‘A’ S 2023005 dreden
&935:000.

Qﬁég ‘B’ 2005,8 30858 5508 0220005 Djetyen
SDBRD BED.

i R )

BB AN B0 200 200
DB 2.5, VLG B0 & Rodo0bH

SRR SFeSnen 20 6
D8 2023008 00ty 530S

ODTES So % 250 X250
2%, 0F07e0E5B RS 50L0e0 4 8

S-1786 3] (FLQ.
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12. From the following information make or buy decision to save.
Product ‘P’ Product ‘Q’

per unit per unit
4 X

Material cost 150.00 160.00
Labour cost 140.00 150.00
Direct overhead 80.00 60.00
Indirect overhead 50.00 40.00
Fixed cost per unit 30.00 32.00
Number of products required 10,000 12,000

These products are available in the market.
Product ‘P’ Market Price PU 422

Product ‘Q’ Market Price PU 405
DB HBBHVO H0& DFLEED BoHRD WaHHESme Swe

§2:06%e0 L3oHHBTR DFA00EEN & DFODHED HSeSED
DO BTTIOHHBTRD.

PuE T pEEQ
QDD S8 aTeeS 58
&oe. oo,
0300 HS Hesd 150.00 160.00
h,‘@‘&_) 140.00 150.00
DBE £>355 336 80.00 60.00
5685 6,56 330 50.00 40.00
Q0 85,0Da00 30.00 32.00
SoHRIM I tsBew 10,000 12,000
Eﬁ)aa&eb:étf 422.00 405.00

S-1786 [4]
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13. From the following information compute
i) Labourrate variance
ii) Labourefficiency variance
iify Labour cost variance.
Labour category Standard Actual
No.of Hours rate || No.of | Hours rate
heads worked PH. || heads | worked |Perhour
perhead <X Perhead| X
Skilled 150 6 100.00(] 140 6 105.00
Semi skilled 170 8 90.00 172 8 92.00
Unskilled 100 9 80.00 105 9 81.00
D BB S0k
)  FoR0E HOL HeSSed
i) GeQOE 3t HTSBE SOOI
i) EELE Reao; HeSGEs B0
0,500 S50 PSRis R
500,500| 500,55 |§0LE| | 500,500 (5L | (50&E
209), | doSaxn| ko || wogy [doSaswy [ Teo
5050 | O%. 500 R,
oten tso&en
BEEo 00D aD| 150 6 100.00|| 140 6 105.00
NGBOmP s
JODN T 170 8 90.00(| 172 8 82.00
B B e | 100 9 |80.00|| 105 9 81.00
S-1786 (5]
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14. XYZ Limited Produced a special type Machinery 80% learning

curve is expected to be applied for this machinery. The machinery
will be supplied at variable cost plus 25%. The variable cost and
sale price of the machinery has been estimated as follows:

4

Materials 8,00,000
Labour (6,000 hours
@ 125 per hour) 7,50,000
Variable ove;*heads
150% of direct labour 11,25,000

| 26,75,000
Profit 25% : 6,68,750
Sale Price 33,43,750

Order has been issued for purchase of 2 Machines ascertain Sale
Price Per Machine.

S-1786 161
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XYZ 98088 Bod 28 HB.5 anoB@snss om0
BOTDWIYD. 8 o1 80 wES5D Qo8 L,

BTOOTHTOPE. €83 OHOFBEV <55 a’sﬁoﬁaenaﬁ 593 25
B0 3850 §5(53153§8).

&8 OHOBO CINE, TEBHL0ITeeN 80DOOHD 8&1,B0 56 808
BB DO WO BDOBO.

&oe.
000D, 8,00,000
HBZ 50 (6000 doe)eﬁ 550808 &e. 125) 7,50,000
<55 585 338 (D85 F630658 150 Fo&BH0) 11,25,000
26,75,000
e7gIsn0 25% 6,68,750
€9530,55300 O

38,443,750

Both HBS BN BADGnEd 86 tostso aod308.
DBBB0O F0Es 255 BONS HB DBOEHHBD-

S-1786 | 17) o
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15. Explain the scope and areas of cost reduction.

S0 BAORY) HOY SOOI QB SoBTED 5708 OO

16. Write about B.E.P. and Assumptions of Marginal Costing.

2.2.3. SO HTYHS SROH éc’f).)o:ﬁae)a Bex0.

17. What are the advantages and disadvantages of Standard Costing.

Sps0ee38 S9R)08 C30E); SDCITTED SHIOOLD SEReD
Bea0.

S-1786 18]



